CERTEE



1 KHER &

(1) PRk 2 94 EKHER B2

T 5 BY [ = Hb BREE JU N Hi 7 ) 55 = (= I

MR 9 8 km 14 9kn

X 53 — S K HE B — it K e
BEFN 4 6 FE 7 & Ak L C BEFN 4 6 4FJE 0 b AR fk: L C

fisi =z BE GHIEIEH¥R : 2H1H) B GHEE¥ER : 2H1H)
(— 0 1 W8 i 324F E s & FE i) (—#F1 X B8 F 454 FE > & S i)

(2) JKYESFTALEH O BT BN R

R iﬂﬂﬁﬁiﬁ e R i HT & it JE Ik % BLE A A
[l — % — %
P 11 11 76 9 107 13 94
B 6 12 18 18
Ny 2 2 11 15 2 13
Lot 8 8 8
A 6 6 6
KM HY 2 2 2
LAk BT 3 4 7 1 6
=R 5 8 49 62 62
fi By T 2 2 2
& dt 27 21 170 9 227 16 211
(3) HE A2 mE 5% )N FEBETIC X DK ERN &
O #HEVEH (EEMX) ML T el s EE
B # R 107km 123km
X 5 — itk K YE I & Tt K M R
i = I Fn 4 9%&%7&%%&@ (i‘o‘ot% & ITBLID -
BHRITH 2 8 FEREE (5t - B TFEHBRIL T &) LY
@ K AT AE L o> T I B P AR
REH ] - it B Pe LR )1 =5 % P &t
e 2 2
Lkl 2 11 13
& B T
NSZ3:0 5 5
=241 2 21 23
it 7 44 51

-27-



